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(1) Solve the initial value problem using Laplace transforms and sketch
the solution:

y00 + y = Æ(t� 2�) ; y(0) = 0 ; y0(0) = �2 :
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(2) Find the transfer function H(s) for the system and the impulse re-
sponse function h(t) and give a formula for the solution to the IVP using
convolutions:

y00
� 2y0 + 5y = g(t) ; y(0) = 0 ; y0(0) = 2 :
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(3) Solve the given IVP using Laplace transforms:

y00 + y = u(t� 3) ; y(0) = 0 ; y0(0) = 1 :
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(4) Solve the given IVP using Laplace transforms:

y00 + 5y0 + 6y = �tu(t� 2) ; y(0) = 0 ; y0(0) = �1 :
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